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General Instructions:

1. Candidate must write his/her RollfNumber on the first page of the Question
Paper.

2. Please check the Questibn LPaper to verify that the total pages and total
number of questions containedfin the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential ordes.

3. Making any idéntification mark in the Answer-Book or writing Roll Number
anywhere other thah the specified places will lead to disqualification of the
candidate

4. Write your\Q@éestion Paper Code No. 67/TUS/2, Set on the Answer-Book.
5. (a)gefhe Question Paper is in English/Hindi medium only. However, if you
wish,"you can answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.
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Note : (i) This Question Paper consists of 49 questions in all,
(i) Al questions are compulsory.
(iii) Marks are given against each question.
(iv) Section—A consists of Question Nos. 1 to 25 dnd Séection—B consists of

Question Nos. 26 to 49.

(a) Question Nos. 1 to 17 and 41 to 43—atc Multiple-choice questions
(MCQs) carrying I mark each (1x20520).fSelect and write the most
appropriate option (A, B, C ogf D). An\internal choice has been
provided in some of these questions. X¥ou have to attempt only one
of the given choices in sucHiguestions.

(b) Question Nos. 18 to 25fand ‘44 to 47—are other Objective-type
questions. Q. Nos. 18,19 and¢21 carry 2 marks (with 2 sub-parts
of 1 mark each) anddQ."Noy 20 carries 5 marks (with 5 sub-parts of
1 mark each), Qs Noy 22 carries 3 marks (with 3 sub-parts of
1 mark each), @, Nos ¥ 23, 24 and 25 carry 4 marks (with 4 sub-
parts of I mdtkyéach), as well as Q. Nos. 44 to 47 carry I mark
each. Attempt as pér the instructions given therein with each such
question@t, 18 to 25 and 44 to 47.

(v) Section—Blat‘nlumbers 26 to 49 consists of descriptive-type questions
as follows :

(@) Question yNos. 26 to 31 and 48—are Very short answer-type
guestions’carry 2 marks each (2x7=14), to be answered in the range
of 80 to 120 words.

(b) Question Nos. 32 to 38—are Short answer-type questions, carry
3'marks each (3x7=21), to be answered in the range of 150 to 200
words.

(€) Question Nos. 39, 40 and 49—are Long answer-type questions carry
5 marks each (5x3=15), to be answered in the range of 400 to 500
words.

(vi) For Optional Module, attempt all questions either from Optional
Module—I or Optional Module—II.

o : (i) 3@ T9-w °§ T 49 yH Bl
(i) | ye sfemd #
(ili) TP Y b 37k IFh AW 3ifehd B
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(iv) @Ug—eh H U ST 1 ¥ 25 % a1 @WUe—@ § Y9 T& 26 ¥ 49 % &
(@) 9 W& 1 ¥ 17 @ 41 § 43 gfahed™ WA &, T H 1 IH B
(1x20=20)| T8 I9YF fashed (A, B, C a1 D) TR forflaw| $5 yeail®
ITaieh foehed feom mm 81 W@ wwAl § @ TRt we @1 W i)
(b) I T&T 18 ¥ 25 TH 44 ¥ 47 3= I8 YA §| YA & 18, 19, 9
21 T T% % 2 3h & (1 3H 9l 2 U-UWN |fgd) T T G& 200605
3% & (1 3% Il 5 IU-WIN Aled), T T 22 H 3 [Hian S T
3 3I9-uTN AfEd), I T 23, 24 TH 25 § YI4h & 4 §h @ (] 37
4 3I9-9TT GiEd), T T 44 T 47 U TS w1 1 % ol B % W
18 ¥ 25 T 44 ¥ 47 ¥ feu mu fdomgamr iy
(v) WUE—W U U G 26 ¥ 49 T dUHTHS T 2
(a) IO T@M 26 ¥ 31 TH 48 3fd AT T &, TAF K 2 37F & (2x7=14),
T T I 80 W 120 Vgl hl HWT F el <
(b) Yo @@ 32 § 38 YT WA ¥, Y@H b3 3 & (3x7=21), TH HI
S 150 § 200 TG h Hiw F g <)
(c) U TEAT 39, 40 U 49 E-ITUMIRA el & 5 37 & (5%x3=15), I
H IW 400 ¥ 500 vegi FHiEm ® i G
(vi) efeuss Afgget & foiu, Jefcumpmisder] sromn dwhfeus uigga—II & a@ft Tt &
I g

((1) Answers of all questiongfarefto Be given in the Answer-Book given to you.
aft Tl % I MR & g Saaedfeae # & ford|

(2) 15 minutes time has been allotted to read this question paper. The question
paper will be distribuited at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will zgad the guestion paper only and will not write any answer on
the Answer-Bookiduring this period.

T TH-TEH U @ e 15 fime &1 wwa fen w21y w1 fador goe #
2:15 &1 (RIS | U 2:15 &9 ¥ 2:30 & qh B hadd YH-TF I Ui IR
39 A K GUH 9 IW-YREAHT W HIg IW A& foraT |

N

SECTION—A
@ us—<h
Answer all multiple-choice questions : 1x17=17
W) wefedia wwi % I v
1. () Which among the following is a feature of a community? 1

(A) It is associated with a definite territory

(B) Sense of belongingness is stronger

331/TUS/115A 4 AN
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(i)

2. (i)

(C) It is a concrete entity
(D) All of the above

= § 9 wygE f s sE-d 27
(A) T Tfeaa &= @ gafuq

(B) 3TAUA <hl HSQ WIEHT

(C) wh Hd Hfere

(D) v &t

Or / FYal

In sociology, society refers to a sum total of existing between
individuals.

(A) relationships (B) insfitutions

(C) associations (B) ““eommunities

TaTSETE B e Sl o S g, @ % AN H IR Tehd LT
(A) gaei (B) @&

(C) @i (D) wHEwR

Which among_ théxollowing is a feature of a socialist society as stated
by Marx? 1

(A) Ideal ‘society
(B) Ne classes

(C). No ‘struggle
(D)“All" of the above

R & @ e g was 78 oS g 6 fmivar si-dh ]2
(A) s wm

(B) =it w1 affertor T &

(C) 1S Ted 7 &

(D) ST &

331/TUS/115A 5 [ EHAANREARWn- er-o.
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Or / FYdal

(i) When non-material culture does not adjust readily to material
changes, it results in

(A) diffusion (B) acculturation

(C) cultural lag (D) isolation

e 31fifoes Teepfa fteram & wifaes afEdel @ dreme T8 @ U, aE SEeht st
__ Em R

() TER (B) HEpfa-HoHm

(C) wrepfesh T (D) T

3. Elections are a form of political communication befween the
(A) people
(B) political parties

(C) government and the governed

(D) None of the above 1
o (Refem) & sl Ueifies dare w8
(A) @
(B) THfaess wifézi
(C) & 3R Iy
(D) STEw H i T
4. Whiech, of“the following is an important feature of urban societies? 1

(A) Marriage (B) Kinship
(€) Anonymity (D) Personality
fie & & e o 6w ey RRw we-w 27
(A) foamg (B) e
(C) Tt (D) =Afhc

331/TUS/115A 6 AR
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5. Which of the following is created by people for a specific goal? 1
(A) Association (B) Society
(C) Community (D) Neighbourhood
= & & w0 Arn % g red ot @& 1 9fd o fu s mn e
A) = (B) @HTSl
(C) ®HE™ (D) we™

6. () Kins may not always be related by blood or maritdl ties rather there
might be imaginary relationships called

(A) consanguineal
(B) affinal
(C) fictive
(D) None of the above 1
TGN g wH-gE @ a1 el T 2§ afg w A e §
3% TR WHT a1 8l UH TWER, ) e &l
(A) Fu&h
(B) wafesh
(C) =Tedieh
(D) 374w & HHIE e
Or / 3Ydl

(ii) Mention the degree of kinship for example—Father’s brother’s wife,
father’s $ister’s husband, etc., from those given below.

(A Primary (B) Secondary
(€) Tertiary (D) Cousins

TrdeR <t fehedT & 3MIR W e T IS 1 YhR Fd18Y, ISTEW—Udl & 98
H1 gett, frar & 587 w1 ufa, genfel

(A) wufies (B) fedftore
(C) Feft=h (D) WE-s&d & s=
331/TUS/115A 7 AR 1 e.r.0.
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7. As per 2001 Preliminary Census Report, literacy rate in our country is
(A) 62% (B) 64%

(C) 65% (D) 33% 1

T 2001 <t Waftes SvET O % SHER, R oW A ST AeR
(A) 62% (B) 64%

(C) 65% (D) 33%

8. (i) The first education policy in our country was fofmulated in
(A) 1960 (B)f “1980
(C) 1784 (D) 1967 1
AR < H ugelt e Hfd w9 e @ EHL AT TSI
(A) 1960 (B) 1980
(C) 1784 (D) 1967
Or / 37941

(ii) As per the 1991 Census Report among States and Union Territories,
whichfState has the highest literacy rate?

(AOrissa (B) Bihar
(C) " Kerala (D) Karnataka

T 1991 <t FuET Fad o STHER, T 3R hgonfed e § & form Usg i
TIEAT W TGE Het ot ?

(A) snfem (B) few
(C) & (D) HeH
331/TUS/115A 8 RN AR
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9. Identify the factor that is not correct about class as a system of social
stratification. 1

(A) Non-hereditary
(B) Does not permit mobility
(C) Endogamy is not strictly practised

(D) Achievement and skills are important

= @ 9 39 *Rw & g, S A T 6 T TUel % B, Hidn, 5 sR |
e T R

(A) R

(B) 3IWH o ¥ SW 334 hl RN

(C) @Mz foarg =1 mfiar | uTe A &

(D) Iueiferl 3t wive qgegl 8

10. () Choose from the following thegterm thiat defines rules and norms that

are laid down by society fér the conduct of its members. 1
(A) Laws (B) Mores
(C) Customs (D) Traditions

/= o 9 33 o KT S 99 g TS % QR o AR & fore faaffa@
Rl 3T AEEET 1 GG S 2

(A) B (B) AMER-fe=R

> >

(C), =g (D) W
Or / 3741

() y Ferdinand Tonnies, a German sociologist, coined which of the
following terms?

(A) Bourgeoise

(B) Gemeinschaft
(C) Gesellschaft

(D) Both (B) and (C)

331/TUS/115A o [ EHAANREARWn- er-o.
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T SHA gTeEmel Biéamg aHie 3 fehmeht wma o ofi?
(A) Tofruf o

(B) Sftrsmee

(C) SHNTR

(D) (B) 3 (C) g

11. (i) One of the major issues which India is facing is
(A) illiteracy (B) population explosion

(C) dowry (D) alcefielism 1

i 59 TgE e 1 9 o @ 8, S dgu @

(A) Freran (B) ), gt faepie
(C) <o (B) Tepretfersa
Orgdl ST
(i) Dowry, nepotism, dishoflesty;, et€.; are which of the following forms of
corruption?
(A) Social (B) Political
(C) Administrative (D) Professional
TES, WIE-WgIEE, ST SeaTte foRd YR % WEER 27
(A) TG (B) TsHIfae
(@Sl (D) SATEETR

125 Whieh “of the following defines the contextual view or field view of the
Indian social system? 1

(A) Jati

(B) Varna

(C) Caste

(D) None of the above

331/TUS/115A 10 AN
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= # ¥ BH-T1 IRAE AT e & e gt a1 & gyt wt uferfya
HAT 8?7

(A) Sfd
(B) =i
(C) =<

(D) 37k ¥ & HS T

13. (i) Daniel in his study of racial discrimination wisdedyto discover the
extent of racial discrimination in

(A) Britain (B) France
(C) India (D)ef South Africa 1
ST HEHTS < O MY H SFrEret 4 Srdig, WeHis, Bl Hm S oudr _ H A
el
(A) fse B)
(C) 9ra (D) TfErw aThieR

Or' ) 37al

(i) A society cann®dt be fully understood without comparing with other
(A) people
(B) institutions
(C) soecieties

(D). None of the above

Ush, HHTST 1 U1 ST 9 T @l [hdT ST Hehdl & 519 dh I&h! gl go
T 9 & S

(A)
(B) @i
(C) TS
(D) 3 # & i TE

331/TUS/115A 11 [ EHAANREARWn- er-o.
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14. Through the introduction of which of the following systems local self-
governments have been created in the villages? 1

(A) Panchayati Raj
(B) Judicial system
(C) Reservation system

(D) None of the above

fopa gurell Y yEsTa & wrem @ el § Ty wemEe s i S ey
(A) =TI TS

(B) =muretshl JuTTeft

(C) STR&W Jored!

(D) 37 & & F

15. () Which of the following groups,iS' met an integral part of the caste
system? 1

(A) Scheduled Castes (B) Scheduled Tribes
(C) Backward Classes (D) OBCs
= & @ $H-m e, i Jumet 1 3Tdies 3 T8 R 7

(A) TG St (B) IIg(aa SHSIaRT
(C) e i (D) 3= frse ot

Or / 3Yai

(@, Seheduled Tribes have been conscious of their identity since long, so
they organized movements against

(A) Zamindars

(B) Jagirdars

(C) British rule

(D) All of the above

331/TUS/115A 12 AN
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5T T Y YA SASiaal SO Teee % o e W R, gafe s
+ fgam® 3o I

INRECIEY
(B) Snfieri
(C) fafew wwr
(D) 3wt &ft

16. Which of the following groups were not allowed 40 Sanskritize their
status? 1
(A) Brahmins
(B) Untouchables
(C) High castes

(D) None of the above

= o 9 form v 1 3o T (SUM) [T Sehdientyl i i oo @l 2 ¢

(A) ST

(B) 3Rd

(C) 3= SHfaat

(D) STE® HpH HIE el

17. () AWneighbourhood or a village is good example of which of the

following? 1
(A)."Community (B) Society
(C) Urbanization (D) Association

T TS A1 e e § § frae Sgd s e 27

(A) HHTH (B) THS
(C) wralrhtm (D) @™
331/TUS/115A 13 [N ¢ e.r.0.
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Or / FYdal

(i) A society is a collection or aggregation of individuals. This definition
is given by

(A) sociologist (B) political scientist
(C) layman (D) anthropologist
T GUTS ohl ATKAT o T A1 =T b &9 H 4 H G Torgy witHmtg 5ha 7
(A) FETSER (B) Tsfees Szafden
(C) HYURY =Afh (D) THaTET
18. Fill in the blanks (any two) : 1x2=2

(a) The relationship between son-in-law, and father-in-law is an example
of .

(consanguineal /affinal /avunculocal /descriptive)

(b) In terms of degree of kinshify, théypritmary kins of our first degree kins
are our kins.

(primary/secondary/tertiary/affinal)

(c) Kinship terms which are @§ed by us for indirectly referring to a person
are known as Kinship

(terms) of address/elementary terms/derivative terms/
terms of reference)

frdl @ freh RIMIER gfd Hif -
() CTHIE B ETR T AdeRl T 3= 2l
(TR / AaTtEeh /AT / feraruTeneh)
(@) Hepedl T SATHTNG ATAGH % IFTER BAR TUH Hife % ATdGR & MfHeh ATdgR gHR
__ eR B 2
(smerfireh / feefiareh / qefares / Jafeeh)

() el e, feht SuEm g9 forei stucae saft & fofw @ 2 3% %ad 2l
(FwEe % alich /TR 9¢/HhhM UG /HeHgas 1e)

331/TUS/115A 14 AN
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19. Fill in the blanks (any two) : 1x2=2

(a) Simple tribal societies do not have any rigid
(system/institution/social stratification/kinship ties)
(b) The form of religion where tribals worship any non-living body like a
stone or wood is known as
(totemism /naturism/animatism/animism)
(c) Tribals feel they are the sons of soil hence they have ‘@ strong Sense
of identity.

(caste/ethnigjfreligious /linguistic)
frdl @ e Tl A 1{% hITTT
(%) W ATl GOt H HIE FHAR R
(TOTRE Y ST ISTeh TiehtuT /ATder Tee)

(@) o %1 98 ®9, &l Aiear et Ig TRl S8 T A1 el i INd 8, 34
& 9™ ¥ M1 S g

(SIEHATE /TepTcrag /<IelTg /SedTg)

() Fnfeardt 3= 3a w1 gl gaft amd € 3EfeTT 3Tk 3iet U At TEaH
EJRRCICC I

(STt /STt / e / wTeTs)

20. Fill in thefblamks any five of the following (write in one word) : 1x5=5

(a) Joint family where extension of the family is along horizontal lines is

(B, Kibbutz is a unique family system found in

(c) A family grouping made of husband-wife and relatives on both sides
is

(d) The term which applies to only one particular kin category is known
as

(e) The term that describes a person’s bilateral set of relatives is

331/TUS/115A 15 [ EHAANREARWn- er-o.
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(f) The kinship usage in which two kinsmen do not address each other
directly rather through a third person or symbol is

(g9 A set of kins who traces their descent from a common ancestor
through known links is

Fr § & Frdl ofa o T B R B (o v frfan)

() TFh NER, S foeqd 2 3 sod afER % 9 T @ 3 % A9 wAE, B
(@) forees T G IR Jomelt & St # U S R

(M) @ ufEr w1 agg, e ofq-ueh 3 gF W % fwdgl @, 2 0|

() =€ g, Wl fohel Th foRw Tiderd bt vl WA giEige, B |

(5) T =k % Ag R fig T SwseAl w1 cEiigEen W@ Sead 2l

(") < el % € 9 His TIH €Y Y Td9id ehardl 8, Sfch dE =ik % qem
T gy g ®, df SH _ hEd L8l

(B) TH TH AGERI 1 g, S Th GHF,IC@IaT a9 ¥ qif=d & & wem |
g B §, ° |

21. Write True or False (any fwo)4 1x2=2

(a¢) Rhythms of natutéhcycle of night and day, seasons of sowing, reaping,
harvesting,4€tc., are examples of fluctuating change.

(b) Conflict, theory ’states that every pattern of action, belief and
interactionitends to generate an opposing reaction.

(c) Soecial change is a universal process.
&l A Acd [RgT (HE Q) ¢

(%) Fpfa 1 7, Td 3R feT &1 =36, F3TE, hHes & HEH ¢ ITR-<EE (A=A
aftedd) % udie Bl

(@) ga¥ % fgd & AR &% YHR &I fha, favem v srafkan e fauda
gfafskan &l S99 23 1 T Ll 2

(M) FmSes qiEdd T fogesard ufskam 2l

331/TUS/115A 16 AN
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22. Write True or False (any three) : 1x3=3
(a) Every group is structurally organized.
(b) Nomenclature is not a characteristic of a social group.

(c) Family as an association is a group whereas an institution farailygis
not a group.

(d) Based on the presence or absence of formal rules, grodps cam be
defined as formal or informal.

(e) Open groups are those where membership is notgoluntary:

T A e ferfE (@ dF)

(%) TAF TYE HLEATH® ¥4 G Tfed B

(@) Tmugld amTs wgg i famvar 7@ 2|

(M) ufER Th @il & w9 § v uug YSElh U TEAT % w9 § g T8 2

(7) ferelt st frm 1 ufeafa doeperaeta § ayg & U=l a1 =T
g | ufonfya feeen S oadmgn @l

(3) g1 T 98 & fooehl Gegl ufeos T8 gt 2l

23. Answer any founf(Assettien, Reasoning) : 1x4=4
forel Tm o AL CISEN(ETET, deh) :

(i) Based{en ther following, identify the correct option :

Assestion»(A) : The direction of evolution cannot be reversed from the
complex stage to the simple stage.

Reéason (R) : Evolution is an irreversible process.
(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

331/TUS/115A 17 [ EHAANREARWn- er-o.

9899436384, 9654-279-279



SCORE BEST MARKS WITH
UNNATI EDUCATIONS

= % YR W T fosey w1 wEEIHT

TET (A) : i fowm 6t wiaefie feon Sfea feufa @ wamo & 3R 98 @R
ST Eehdl|

T (R) : Hites T U smfada wfsan R
(&) (A) ¥ B, W (R) T B

(B) (A) e ®, W (R) ¥&l B

(C) (A) 3R (R) aHi HEl &

(D) (A) 3 (R) gHI T &

(i) Based on the following, identify the correet option :

Assertion (A) : Social change is nofga Value-neutral phenomenon.

Reason (R) : Subjective prefeféhce of different people is not given
importance while ‘Studying social change.

(A) (A) is true, but (R) is false

(B) (A) is false, but{R)ds tmue

(C) Both (A) ané (R) are true

(D) Both (Af and (R)are false

= S @uEr wEl foshey ®1 TE=IhT

T, (A) MG IiEdT Joa-qeed ThH T8 2l

TeRp(R)) : Tafia it <1 fawerra =1 safea 9Eg ol @i giEdy & 31eRE o
wEe e fen

(A) (A) ¥& B, W (R) Toid B
(B) (A) T 8, W (R) @&l @
(C) (A) 3R (R) aHi HEl &

(D) (A) 3 (R) gHI T &

331/TUS/115A 18 AN

9899436384, 9654-279-279



SCORE BEST MARKS WITH
UNNATI EDUCATIONS

(i) Based on the following, identify the correct option :

Assertion (A) : In French Revolution, the rule of the emperor came to
an end suddenly.

Reason (R) : Revolution is a sudden and abrupt overthrow of the
existing social order.

(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

1 & smar W I fawew w1 vg=TiU
TET (A) : B T TSThId H HWTe sl HxT (WeheH AT &1 g off|

T (R) : HIS[CT AN TG i e Sl SHTheHh IWTS theh M hi feafd
il Bt 2l

(&) (A) ¥ B, W (R) 7o &
(B) (A) Ted 8, W (Rl
(C) (A) 3R (R) il @& &
(D) (A) SMAR) THIgra &

(iv) Based on the, following, identify the correct option :

Asseéstion, (A) : The notion of development is mnot a recent
phenomenon.

Reason (R) : It is a strategy of unplanned social change.
(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false
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= % YR W g fosed 1 qEETT -
TET (A) : fomm # FEuRen ' & % au # faefaa 1@ 88 2
T (R) : I8 Uk NG @i qitedd <t wHifd gt 21

(A) (A) & &, W (R) Tord 7
(B) (A) Tefd 8, W (R) ¥ B
(©) (A) 3R (R) el HEl &
(D) (A) 3 (R) S 7@ &

(v) Based on the following, identify the conféét option :
Assertion (A) : Socialization is a sogial process.

Reason (R) : It helps the childato grow and develop physically and
mentally.

(A) (A) is true, but (R) is@false

(B) (4) is false, butdR.48 true

(C) Both (A) amh (R) are true

(D) Both /&) and (R) are false

= o S8R, W TE foemen #i ggatT

TTEINA) & FHSTeRT T | Uikt 2|
T (R): I8 s=1 I wfes 3 amfae gfg 3t fosm § wgmar & 2

(8) (A) & 7, W (R) Toid B
(B) (A) e 8, W (R) ¥ B
(©) (A) 3R (R) aHi HEl &
(D) (A) 3 (R) S T &
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(vi) Based on the following, identify the correct option :

Assertion (A) : The agents of socialization are school, family, social
norms and values of society.

Reason (R) : These are egalitarian forces.
(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

=1 & YR W TE fahed w1 ygET

TET (A) : TSR o wrem foener, ufer, amfses, ik o aurs & Afaes
T B g

T (R) : ¥ H9aHeTsh WIRREAT @

(A) (A) ¥ B, W (R) Teid B

(B) (A) @ B, W (R) W& B

(C) (A) 3R (R) <Hl @& &

(D) (A) 3 (R) GHI ighd &

24. Match Column—Agwithh Column—B (any four) : 1x4=4
Colurmn=-A Column—B
(a) Family in Wwhich one is born (i) Functions of a family
(b) A€obm of family based on residence (i) Family of orientation
(cJ<Seecialization of children and (i) Urbanization
enculturation
(d) - Families where husband and wife (iv) Avunculocal
both are earning but don’t have
children
(e) A factor that has brought changes (v) Familistic organization

in the family

(f) Joint family in India is a (vi) DINKS
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HIAT—A B Ham—B T i hife (Fi5 =) -

HAT—A HiAH—B
(a) TfEr fad =afe &1 5= gam 2 (i) aRER & g
(b) TEm@ TWH W Y@ 9iER B THR (i) rfufa=ma =1 gfiER
(c) S=i T THSIH 3 TEHITHT (iii) <rE{TeRTol
(d) & ufEm, Rt ufd s ool 391 1 o (iv) TR S (T hal)
Bl &, Wifeh ITehT hIS =T &1 BIdl
(e) Th HNU S IRER § qiEdd o & (v) I8 THIERETCH ST &
() Ya H §Yh INER g TH (vi) DINKS

25. Read the passage carefully and then answer the questions that follow
(any foun : 1x4=4

The followers of Judaism are krown as Jews. The ancient Indian
settlements of Jews are in Cochingand Méaharashtra. The Jews of Cochin
have maintained their religiougfidentity for at least a millennium. It was
in 1020 AD that the King of, Cochin gave the Jews the right to live and
enjoy privileges, such as the right'to ride elephants and to go with a state
umbrella, etc. Later, the"Jéws £ame to be divided into two groups—the
White Jews, who were lighter in their skin color and traced their kinship
to the original migrants and the Black Jews who were dark skinned.

By contrast thedeéws iniMaharashtra are large in number. These Jews are
known as Berie [srael, i.e., Sons of Israel. They live in several Konkani—
speaking yillages asS’oil pressers, since oil pressing is not a prestigious
occupation, \théymdo not rank high in their villages. As they do not work
on Safurdays, they are also known as Saturday Oilmen.

()¢ Name the religion of the Jews. 1
(b, Name the ancient Indian settlements of the Jews. 1

(c)*“Mention the rights and privileges granted by the King of Cochin for the

Jews. 1

(d) Differentiate between the ‘White Jews’ and ‘Black Jews’. 1

(e) What were the Jews of Maharashtra called? 1

(f) Why were the Jews of Maharashtra also called ‘Saturday Oilmen’? 1
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Fre foma e w emgEE afer ot R for o R W m oyl % s @R
TEG UM % A Il B 8GN Hed &l T WA T8 % W A1 @™ i
TERTY H 2| I % FgCl J AT TgaH FA-H-FH Th Hil-Em 8 a9 Wl 81 Fad
g T 1020 wamsdt § A & TS A Fgieat Hi Shem-Farg 1 iR 3 fomiy st
fou &1 3 faow ARmeRRl o geft i FE 3R TS DA I AR A o | (Sidgd
¥ FEG o TRl H W gl TE YA Agql ekl e whe off 3R S 3, e
et TgG AMd 9, U GYg 98 R T e |

TRy § wgfedl @ s 31 A 9 U A TS o T GREsTo gl shichuit
W S Il $® e H ¥ Wd & 3T dct ST T i 8 i dofl e gfafyd
SAEE & 2, $% Al H Ha A1 A2 fed Sar 21 F qHEfe bl M TE Hid 3
3= vFER aeft off a2

(%) FEica % gd % W fafem

(@) W ¥ H 9RA H Fgfedl i Sfeqdl % T [GRa|

(M) I F T G AGCA Bl U MO SRR o o STfUER H Ig@ HIf
(F) ‘W FEE SN w FEE § g ENEhIS
(
(

T) TERIY % g4 T hEAd A
) HENY % AEd wiER g@t aft W@ e S 97

SECTION—B
Qis—d

Answer the followinng questions in around 80 to 120 words each :

frefaflgd & @ w@ERsRa 1 ST T 80 ¥ 120 wedl # fefgu

26. What 4s)functionalist perspective in Sociology? 2

grsEend s ot (verices aftier) w=n 27

275 Distinguiish between hypergamy and hypogamy. 2
3 3R yfaem foame # s wm Hifvm
Or / 3ga1

Distinguish between ‘natural inequalities between people’ and °‘social
inequalities’.

G H WTehfaeh W-sOe’ 3R gmIie W-sted’ § @ Wy Hifw)
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28. According to Karl Marx, what is the difference between a ruling class and
a service class? 2

HTl W % IIER, WEh @ 3R FaT o § o I B 27

29. What was the task and recommendation of the Mandal Commission,that
was instituted in 1979? 2

A HHITE, S 1979 H TEA FI AT, IFH1 Igwd R iy w ofid

30. State how mores function as social control agents. 2

AR TS 970 e & &9 § fohH ThR HM i 82

31. Explain the political causes of poverty. 2
Tt & THfdes HRUT T 3Ig@ hife|

Or / 37¥dl

Explain the second stage of populatien transition.

SEEA HHAU hl GE TEEAT I AR

Answer the following questions ifi  agdbund 150 to 200 words each :

fafafed @ @ Is U HpSW W 150 ¥ 200 Vs H fafEe

32. Discuss the reldtionship between Sociology and Economics. 3

U U ST ehps= Tee &1 Ig@ iy

33. Discuésyinterviews as a technique of data collection. 3

Higfchmpsiihe Tha HT i Th doleh 8, 38 W ==l hifwg|

34. Mention the features of Westernization. 3

gfg=rfientor 1 fomarst 1 9vH i

35. “School and educational institutions are important agents of socialization.”
Justify. 3

“foemer 3R Rl TEATE FETSHRTT % W@yl me g1 fae= Sifu)
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Or / HY4l

Discuss family as an agent of socialization. 12x6=3

TRER FUTSIERT T U W 2| 3g@ iR

36. Explain the purpose of social control. 3
Tt e 6 TR (Iew) 1 auiE hifu|
Or / FYar

Differentiate between informal and formal means of social“econtreol.

mETRTeh fREY W ST 3R Sfiu=Ties |l § 3T eI i

37. Justify with suitable reasons as to why Schedul€dnTribes”are facing an
identity crisis. 3

g St ol uREE % dehe @ F Sl |, 3a el @ it fig
EQIE

38. Discuss the prohibitive rules of fmasriagé in the selection of marital
partners. 3

Se-areft & o & forw foee sEmucEn i 6 == Fifsm)
Or /<37qr

Discuss Weber’s idea of ‘Ruling class’ as opposed to Karl Marx.

HT ATHE o “IHh Froemar | feu mu fomml & 37 9et Y STe=ET ©I=] it

Answer the followiflg questions in around 400 to 500 words each :

frefoifigd & @ w@SpaEa 1 3T T 400 ¥ 500 visd § faRey

39. Describe the socio-economic problems of population explosion. (Any five
points) 1x5=5

FHEE, fohTe 6t ok - 3T aaensi w1 aub fifvul (F1 dra fig)

40. Identify and explain the changes brought about in the functions of a
family. 5

iER & $ET T AW qREdd ol IgaI-T 3R T 3g@ hi|
Or / 37¥dai

Define joint family. Highlight the characteristics of a joint family system.

TIh UNGR I TRATNG HIT| T TRER Jorret 61 foRivarsti @ s 1ot
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OPTIONAL MODULE-I
( Status of Women )

Jepfeqes Afgga-1
(wfgematt w1 AmING TWR)
41. Name the reformer whose name is associated with the Child dlarriage
Restraint Act of 1929. 1
(A) Raja Ram Mohan Roy (B) Ishwar Chafdra Vidyasagar

(C) Har Bilas Sarda (D) Dayanahd Saraswati

a1et foamg Triuss stfufem, 1929 frm gumes & am HoEpEd 27

(A) TS TH HIE T (B e, fermamr
(C) T SNl (D) WaFe T
42. Who founded Maharashtra’s figgt"Sehool for Dalit girls? 1
(A) Maharshi Karve (B) Jyotiba Phule
(C) B. R. Ambedkar (D) Pandita Ramabai

HERIg § gford oTsfhdlh o U Ugel feremerd =it Tomuar fohaa &hie
(A) Te wd (B) Sifam Hel
(C) o 3Te, SHEEHT (D) ufsar w@eTE

43. Whichy Act” confers, self-earned property with equal share in ancestral
property; rights on women? 1

(A) The Dowry Prohibition Act of 1961
(B) The Equal Remuneration Act, 1976
(C) The Hindu Marriage Act of 1955

(D) The Hindu Succession Act, 1956
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44,

45.

foat @1 AR w-ia gwuft ® 2 3R Rl w1 qeat wwft | ne sifier R
Iz fpa arfufam & srada smar 27

(A) T« Ty srfafem, 1961
(B) @M Iaa fufrm, 1976
(C) Teg fqame sfufrm, 1955
(D) Teg Suufrr Hfufwm, 1956
Or / FY4al

Which of the following Acts provides for payment of equal wages for men
and women for equal work?

(A) The Dowry Prohibition Act of 1961
(B) The Equal Remuneration Act, 1976
(C) The Hindu Marriage Act of 1955
(D) The Hindu Succession Act, 1956

frafafad & @ ®F-0 sfufEm & FFERNTET o & & T0H S HE 6 0 THE
a9 T JEYUE 8?7

(A) Tea Ty srfufem, 1961
(B) @M Iav fufrm, 1976
(C) Teg faame sfufied, 1955
(D) Teg Suufusr lf=m, 1956

The sé&Xyratio in India as per 2001 Census is
(Fill in the blank) 1
200 T VAT F AR, IRd H fom g B
(feeh wom W)

A" woman in the Mahabharata who exhibited a greater sense of
independence and courage was main heroine
(Fill in the blank) 1

TETYRT 1 &I ATrIehT H TH GEH IR Wa &k T H W R
(Th =M witw)
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Or / FYdal

During the period of , child marriage was encouraged and widow
marriage was looked down upon.
(Fill in the blafik)

% I # w-fyae & weEn fon Smar or iR fayer fyar = @9 < E e
i
(foeh e #ivw)

46. The marriage in which a man has more than one wifé
(Define in one word) 1

um foamg, fed wh =ake i T ° sftes afeEt @
(6 wrog ® ufefya hifsw)

Or / Y4l

refers to the number of femalé€s, per. 2000 males.
(Fill in the blank)

Farar g, 9 1000 gest st & g
(feh w9 wiw)

47. Feminists use terfas), such "as patriarchy, male domination, female
subordination, et€., to explain gender discrimination.
(Write True or False) 1

AigATaTe! UHlSEERUTS ! %M | A1 & 4 o6 fqamrcrenal, 789 4@, i e
afe RS it Heh@ wE w9 ¥ femi @ R
(W& a1 T fafe)

48, Differcntiate between organized and unorganized sectors. 2

i 3T 3fsa & H TR oy i
Or / 37¥ydr

Under what circumstances can gender equality be achieved?

for oftfeufaat & staia <ftes wwm@ar 1 we fomen S gt 27

331/TUS/115A 28 AN

9899436384, 9654-279-279



SCORE BEST MARKS WITH
UNNATI EDUCATIONS

49. The National Policy of Education, 1986 laid down that gender
discrimination must be completely eliminated from the educational
system, yet it persists. Give reasons. (Any five points) 1x5=5

1986 ¥ st Tl fran fifa 3 ¥ 9gq wim 9 ¥ wa1 2 T Afies Sewa w1 fran s
Y THSH B oAl AT W 3l T I8 HEH 2| 36k AU [RU| (S di=t fog)
Or / 379dT

In Independent India, certain legislative steps were taken to ifaprove\the
status of women. Examine and discuss the impact/effectivenesshofithese

policies on their status. (Any five points) 1x5=5

WA vRa ¥ Afgensti i fafd § gur & fou 39 fourh wd@ Sem | e feufa
T 3 Af F e/ wwmasfierar f S s = AR )

OPTIONAL MODULE=IT
( Indian Culture )

Jepfoqesh HIgge-IT
( TR FhTd )
41. Which of the following activitiés doyyou think best exemplifies Indian
culture? 1
(A) High five (B) Fist bump
(C) Shaking hands (D) Touching elders’ feet
ST FEET et W F- TRl ade SR B g s SR 37
(A) TS HIE (B) Th&e &
(C) &y Trmmu (D) S % T FA
42. Based{on the following, identify the correct option : 1
Asgeftion (A)” : Culture is a way of life that is common to a group of
people.
Reasen (R) : It includes a collection of beliefs and attitudes, shared

understanding and patterns of behaviour.
(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false
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1 % R W wE foshed 1 wg=hT

TET (A) : Th THEYE gRI IAGE TS Shed-Sefl 1 gun &9 Gehfd g 2|

T (R) : 389 fomemEl TR eI 1 T ©IE, HTE G SN SAGER % dih AMHA Al
(A) (A) ¥& 8, W (R) Tod 7

(B) (A) T 2, W (R) #&l @

(C) (A) 3 (R) THi @&l &

(D) (A) 3R (R) Tt Td &

43. Ploughs, sickle, musical instruments, efe.,” relate to which of the

following? 1
(A) Culture is space bound (B) Culture is time bound
(C) Material culture (D) Non-material culture

T, S, MEA-AE-TA, e A E 8 fhed wefud g7

(A) TPl T @ (B) wwpfc wHawg @

(C) ifoeh Hepig (D) anitfs G
Or / 3AYdr

“All_ human >beings have technology to manipulate their natural
environment to sustain their life.” Identify to which of the following
characteristics of culture it belongs.

(A)*“Culture is universal

(B) Culture is stable, yet it is also dynamic

(C) Culture is learned behaviour

(D) None of the above
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“@ft AME 39 e @I ST W@ W fU 3T WTeRfaeh STAEReT @i 310 g% S
% Toeh Id 817 I8 T # @ wpla 1 fem fomivar & wefua 2, dg=nu)

(A) TEhfa @i B

(B) T&hfd fRr B, 3 f wifeeficr oft 2
(C) w&Ppld wh €@l g1 HIER 2

(D) 37k ¥ & HS T

44. is a process of education without a formal schoolf
(Bill in"the blank) 1

fom 3ty That & T aTefl T wes e yiear R
(feh wH wiw)

45. Time and make culture dynamic.
(Fill in the blank) 1

w3 Heply 1 e T
(feh T witw)

Or /3741

Something which is not inlierited But gained through effort or over time or
both is
(Fill in the blank)
F5 Wt S WoU ¥ W A8, 3G e g AT T FHT H AT gHl g T i TR &/
W whed
(fh =™ i)

46. The aghand $eience of designing and erecting buildings
(Define in one word) 1

o ehh, Tees- o fagior ) e 3R fomm
(vsh Tieg | uftaniya <hifsm)

Or / 374l

A formal account in writing systematically of some subjects
(Define in one word)

fortt fow o1 =yafeug wu 4 fafga 4 siuw=fies faem
(T wisg o ety <hifsm)
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47. Norms are not a standard model or pattern regarded as typical for a
specific group of people.
(Write True or False) 1

ey yfouH teh fafite SH-vgem % forv @@ alieh a1 R ses 9 Ad 2l
(wEl =1 et feifE)

48. After political liberation, what steps were taken by the Governmeént of India
to promote science and technology? (Write any two points) 1x2=2

TSHIfaeh TadT o §1¢ YR R 3 fosie 3R deohieh bl TIcATEGP S . o1l hiF-
¥ whed 37 (fhl & 1 Ig@ hilw)

Or / FYdal

Explain the two distinct schools that emerged inglndian architecture. 1x2=2

RATE IRshenl & &t i gl i = fiffm)

49. “During the Mughal period, fin€ artyrose to a standard of considerable
excellence.” Justify with suitableyexamples. (Any five points) 1x5=5

“HTA HA H AT ol TEE ey oh wR W S g ol 3gew afga siifee
fog Hifs) (2w forg)

Or / Y4l

“The paintings“of Aneient India are master pieces of all times.” Justify with

suitable efamples. (Any five points) 1x5=5
‘U @D SRR vt wel § e @ g1 3 e g sue St g
FfE (T fg)
* ok ok
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